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Quiz Date: 27t May 2020

Directions (1-15): In each of these questions, two equations (I) and (II) are given. You have
to solve both the equations and give answer

1.2p%+40=18p
2_ i
o1, -a°=13q-42

(a) If p is greater than q.

(b) If p is smaller than q.

(c) If p is equal to q or no relation between p and q.
(d) If p is either equal to or greater than q.

(e) If p is either equal to or smaller than q.

Lp?+24=10p
Q2 II.2q% + 18 = 12q

(a) If p is greater than q.

(b) If p is smaller than q.

(c) If pis equal to g or no relation between p and q.
(d) If p is either equal to or greater than g.

(e) If p is either equal to or smaller than g.

Lg*+q=2
2 10 =
Q3. Lp+7p+10=0

(a) If p is greater than q.

(b) If p is smaller than g.

(c) If p is equal to q or no relation between p and q.
(d) If p is either equal to or greater than q.

(e) If p is either equal to or smaller than q.

Lp*+16=8p
2 —
" I1.4q% + 64 = 32q

(a) If p is greater than q.

(b) If p is smaller than q.

(c) If pis equal to q or no relation between p and g.
(d) If p is either equal to or greater than q.

(e) If p is either equal to or smaller than g.

L2p*+12p+16=0

Q5 I.2g° +14q + 24 =0
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(a) If p is greater than q.

(b) If p is smaller than q.

(c) If p is equal to q or no relation between p and q.
(d) If p is either equal to or greater than q.

(e) If p is either equal to or smaller than g.

.3x? —13x+14=0
2 —

06 137> =17y +22=0
(a)ifx>y
(b) ifxzy
(c) ifx<y
(d)ifx<y
(e) if x =y or no relation can be established between x and y.

L2x*+9x+9=0
2 —

a7 .4y +9y +5=0
(a)ifx>y
(b) ifx2y
(c) ifx<y
(d)ifx<y
(e) if x =y or no relation can be established between x and y.
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Lx*—7x+12=0
2 —

0. I1. 2y 19y +44 =0

(a)ifx>y

(b) ifx2y

(c) ifx<y

(d)ifx<y

(e) if x =y or no relation can be established between x and y.
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Lx?—4x—12=0
Q9 ILy? -5y —14=0
(a)ifx>y
(b) ifxzy
(c) ifx<y
(d)ifx<y
(e) if x =y or no relation can be established between x and y.

.3x* —22x+40=0
a0, 11.5y2 =21y + 16 = 0
(a)ifx>y
(b)ifx=zy
(g)ifx<y
(d)ifx<y
(e) if x =y or no relation can be established between x and y.

12x*-25x+72=0
2

o M4y®-12y-27=0

(a)ifx>y

(b)ifx=zy

(q)ifx<y

(d)ifx<y

(e) if x =y or no relation can be established between x and y.

18x°-26x+21=0
2

o1z W10y°-43y+28=0

(a)ifx>y

(b)ifx=zy

(0)ifx<y

(d)ifx<y

(e) if x =y or no relation can be established between x and y.

Ix*-18x+65=0
2

013, IM12y“-17y +35=0

(a)ifx>y

(b)ifx=zy

(g)ifx<y

(d)ifx<y

(e) if x =y or no relation can be established between x and y.
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17x%2 - 44x+45=0
Iy?+15y-100=0

Q14.
(a)ifx>y
(b ifx=y
(g)ifx<y
(d)ifx<y
(e) if x =y or no relation can be established between x and y.
13x + 7y =18
Q15. [I9x -2y =8
(a)ifx>y
(b)ifx=y
(0)ifx<y
(d)ifx<y
(e) if x =y or no relation can be established between x and y.
TEST SERIES
Bilingual
PRE + MAINS
135+ TOTAL TESTS | eBOOKS
Solutions
S1. Ans.(b)
Sol.

Lp*-9p+20=0
=p°-5p-4p+20=0

=(p-5)(p-4)=0
=>p=5+4

II.g?-13q+42=0
=q°-6g-7q+42=0
= (q-6)(q-7)=0
=q=6,7

q>p

S2. Ans.(a)
Sol.
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Lp*-10p+24=0

= p®-6p-4p +24=0
=(p-6)(p-4=0
=p=64
IL.g’-6q+9=0
=(q-3)%=0
=q=373

P>q

S3. Ans.(e)

Sol.

L.g+gq-2=0
=q*+2q-gq-2=0
=(q+2)(q-1)=0
=q=1,-2
ILp?+7p+10=0
= p>+5p+2p+10=0
=(p+2)(p+5)=0
=>p=-2,-5

qzp

S4. Ans.(c)

Sol.
Lp*-8p+16=0
= (p-4):=0
=p=44
ILg*-8q+16=0
= (g-4)*=0
=q=44

q=p

S5. Ans.(c)

Sol.

I.2p*+12p+16=0
=>p’+6p+8=0
=p=-4-2
ILg*+7q+12=0
=q°+4q+3q+12=0
=>q=-4-3

No relation

S6. Ans.(e)
Sol.
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.3x* —13x+14=0
=3x*—6x—Tx+14=0
=2(x—-2)3x—-7)=0
=9x=2,;—

L3y —17y+22=0
=3y’ —6y—11y+22=0
5{32—2?{3}?—11}:{}
::r}rzzrg

Mo relation
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S7. Ans.(c)
Sol.
L2x*+9x+9=0
=2x*+6x+3x+9=0
=(x+3)2x+3)=0
3

=x=-3,—-

.4y 49y +5=0
=4y 4+ 4y +5y+5=0
=+ D4y +5=0=y=-1,-

¥>X

S8. Ans.(d)
Sol.

Lx*—7x+12=0

= (x—3)(x—4)=0

=x =34
.2y* — 19y + 44 =0
=2y —8y— 11y +44 =10
=(yv—4)2y—-11)=0
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S9. Ans.(e)

Sol.
Lx*—4x—-12=0
=xi—6x+2x—12=0
=(x—6)(x+2)=0
=x=6 -2
IL.y:—5y—14=10
=y’ —Ty+2y—14=0
=(y-7y+2)=0
=y=7 -2
No relation

S10. Ans.(a)
Sol.

.3x* —22x+40=0

= 3x>—12x—10x+40=10
=2 (x—4)(3x—10)=0

=X = 4',?

.5y —21y+ 16 =10
=5y’ —5y— 16y +16 =0
= (y—1)(5y—16) =0

S11. Ans.(b)
Sol.
[2x% -25x+72=0
2% -16x-9%+72=0
2x(x-8)-9(x-8)=0

9
K:E,:

IL4y*-12y-27=0
4y + 6y - 18y -27=0
2vi2y+3)-92y+3)=0
-39
Y=733

X2y

S12. Ans.(e)
Sol.
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I.8x*-26x+21=0
Bx*-14x-12x+21=0
2x(4x-7)-3(4x-7)=0
7 3
=32
IL. 10y° - 43y +28=0
10y* - 35y -8y +28=0
5v(2y-7)-4(2y-7) =0
7 4
Y=2'%
No relation

S13. Ans.(b)
Sol.

.x*-18x+65=0
¥*-13x-5x+65=0
x=13,5

I1.2y% - 17y +35=0
2y*- 10y -7y +35=0
7

}'=5ai
X>y

S14. Ans.(e)
Sol.
l. 7x2—44x + 45 =0
7% —9x—35x+45=0
x(7x—9)-5(7x—9)=0
x=9/7,5
. y2+15y-100 =0
y2+ 20y —5y-100=0
y =5,-20
No relation

S15. Ans.(c)
Sol.
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(i)3x+7y=18
(ii)9x -2y =8
Solving (i) and (ii)
x=4/3,y=2
y=X
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